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Instruction : All questions carry equal marks.

1. What is public finance ? Describe the objectives and scope of public finance.
OR
(A) Limitation of market mechanism.

(B) Characteristics of public goods and private goods.

2. Discuss in detail the sources of public revenue.
OR

What is deficit financing ? Explain its advantages and disadvantages.

3. Describe the effects of taxation on production, employment and distribution.
OR
Explain :
(A) Impact, shifting and incidence.

(B) Benefit theory of taxation.

4.  Write any two :
(1) Causes of increase in public expenditure.
(2) Effects of public expenditure.
(3) Types of public debts.

(4) Burden of public debts.
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5. (A) Choose the correct option :
(I) Main limitation of the market mechanismis __
(A) equality of income
(B) social welfare
(C) less than optimum production
(2) How defence service is ?
(A) Divisible
(B) Indivisible
(C) Private
(3) What is the primary burden of tax ?
(A) Impact
(B) Incidence
(C) Shifting
(4) The objective of public finance is to secure ______
(A) maximum profit
(B) maximum revenue
(C) maximum welfare
(5) Food, clothing and shelter etc. are ______ goods.
(A) private
(B) public
(C) merit
(6) Under ___ tax, the rate of tax goes on increasing with the increase in
income.
(A) Proportional
(B) Regressive
(C) Progressive
(7) Forthe ______ income determines according to expenditure.
(A) Government
(B) Private - individual
(C) (A) and (B) both
(B) True or False :
(1)  Public economics means public finance.
(2) Maximum social welfare is the main objective of public finance.
(3) Modern state is known as police state.
(4) There is no profit motive in producing and supplying private goods.
(5) Areward is paid for the payment of taxation.
(6) Government wants is get more revenue through the penalty.
(7) Internal debt is not a burden.
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